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MANAGEMENT
PAPER-1II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  If the demand for using the Noida express way is given by :
Q=40,000 —2500P

Where Q is the number of users (vehicles) and P is the amount of toll collected per unit who
uses the express way. Inlight of this information which of the following is true :

(1) AtP=X%6and Q=14,000; demand is price inelastic.
(2) AtP=X7and Q=16,500 ; demand is unitary elastic.
(3) AtP=X%4and Q=9,500, demand is price elastic.
(4)

4 All of the above

2. If a100% scale-efficient plant has 92% technical efficiency and 88.5% allocative-efficiency,
then its overall efficiency will be :

(1) 88.5% (2) 90.25% (3) 93.0% (4) 81.42%
3.  The market share data for an industry, comprising five companies, is given below :

Company Market Share(%)

A 35

B 25

C 18

D 12

E 10

This industry’s three-firms Herfindahl-Hirschman index shall be :

0.234 2) 0.217 3) 0.151 (4) 0.0175

1)
gl |
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der: 39 YIS | U= (50) Ig-fashed ™ U €1 TE U % & (2) 3w | |t 7 eifred )

1. 9 e i 3 %1 ST S % fT /i Q = 40,000 — 2500P 3 TE , ST Q (IEA) STt
FT G H W1 & R P THAUH I T ST H 91l § I e g H T el R HNTE
Yo % MR R F=Afafed § 9 Si-91 96 ¢ 2

(1) P=% 6 3R Q=14,000 W AT HTd A T |

(2) P=% 73R Q=16,500 R AN THHF o4 |

)
(3) P=%4 3R Q=9,500 R A Hud = Tl
) SudE 9|

4

2. dfc TF 100% AH-FIEA HIT HT 92% THATR! FIAA IR 88.5% AAI-FIAd §, T T
THY FICAT BRI -

(1) 88.5% 2) 90.25% (3) 93.0% (4) 81.42%

3. Tt dier Sufal o1t SET o1 SISTR- 379 Traf-ad Sifhs 39 TR © ¢

HUAT TR AT (%)
A 35
B 25
C 18
D 12
E 10

T & T T &1 ghed- ey Jaewie 31 g ?

0.234 ) 0.217 (3) 0.151 (4) 0.0175

1)
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4. For an economy which consist of single automobile maker and that in year 2014, 30,000
vehicles are produced with an average price of X 5 lakh. For this economy what would be
the increase in the nominal GDP for 2015 compared with 2014 with the 4% greater automobile
production and 8% inflation.

(1) 4.0% (2) 12.0% (3) 6.0% (4) 12.32%

5.  Demand policies targeted to reduce the unemployment become ineffective in presence of the
following :
(1) Vertical phillips curve (2) Money illusion and ignorance among workers
(3) Horizontal phillips curve (4) None of the above

6. An individual’s involvement with, satisfaction and enthusiasm for, the work he does, is known
as:
(1) Employee engagement (2) Jobinvolvement
(3) Job satisfaction (4) Organisational commitment

7. Which of the following is not perceived as the basic element of motivation ?
(1) Direction (2) Intensity (3) Performance (4) DPersistence

8. A theory of motivation that is concerned with the beneficial effects of intrinsic motivation

and the harmful effects of extrinsic motivation, is termed as :
(1) Cognitive Evaluation Theory (2)  Self-efficiency Theory

(3)  Self-determination Theory (4) Two-factor Theory

v [N

=
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4. Tl stefoewen foud teha AfemEEa fFHfar & o = 2014 # 30,000 =e fafdq sar & o7 amed
%! STHd A T 5 A § | 39 T # 2014 F ol § AfG 4% 3T ATTHETRA IRH IR
8% FRTEHITT Bl A1 GEIEY Hehel BRe] 31G H o8 2015 o g fohat sigradt gt ?

1) 4.0% 2) 12.0% 3) 6.0% 4) 12.32%

5. fy=fafad o @ feast sufeafd 8 IO/ &1 ®89 £ 1 dfad g AAfaal Sqgyret @

GlTi"'ﬁ:
(1) eea ffored oo (2) R R 9 SR s
() &fas frfaw o= (4) SwfF A @ wE off T

6. Tl =afga &1 % o Sftafed g, Gqe T iR 9% fou Scnfed & 1 o= Fel 9 @ 2

(1) = Hiew 2) T FTEATEd (Sa gareaTHe)

() wd Hife (4) HISHE Ffdelgdl

7. frAfated § @ ford s1fydeo 1 gayd o 78 7 S g 2

1) <= (2) vEer (3) wE-freaEA (4) e

8.  3Tad ARl & ARl J9E iR Sfeifed IR0 & JHaM <8 UvE 9 Hafyd Ao &
fagia %t forg T @ ST S@ R 2

(1) FIHTHS et fagid (2) T-&Ed fEgia
(3) sme-fruiRor fagia (4) fg-we= fagia
s [T ; papec
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9. Match the items of List I with those of List II.

List I List II
Behavioural science Contribution
(a) Anthropology (i)  Attitude change
(b) Psychology (ii) Attitude measurement
(c)  Social psychology (iii) Conflict
(d) Sociology (iv) Organisational culture

Codes :

10. A relatively stable set of characteristics that influence an individual’s behaviour is known
as:

(1) Attitude (2) Learning (3) Perception (4) Personality

11. Assertion (A) : The more differentiated the HR environment, the more uncertain it shall be :

Reason (R) : Organisations are dependent in an environment where human resources are
not widely available.

(1) Both (A) and (R) are correct
(2)  (A)is correct and (R) is the right explanation of (A)
(3)  (A) is correct but (R) is not the right explanation of (A)

Both (A) and (R) are incorrect

pas H||\||H|||H|H IR
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9. | IH <t TS Al B G I FT TGl § HAH T

T 1 T 11
Hegrateh fasm RINCE]
(a) e foRE () eIfvgfa 9feds
(b)  HAfIIA (i) srfugfa =
(c) TSI AR (ili) THTA
(d) YA (iv) HTSAcHe HERId
Fe
@@ (b (9 (d
® @ @) () ()
2 Gv) @) @ ()
®)  (v) () (D) (D)
@) (@) (v) (D) ()

10. =Afo fI9W % geR W I9TE SIe aTel! faedisti & STiemdd Tt ¥e I 941 Fed & 7
1) eAfagha (2) @ OEEEEEICE (4) AfFE

11. ATIHRIT (A): HHEE GHEA (HR) Iarer | 5ot eifass fa=ar arft sat & e1fues stfeerar
Bl

HRUT(R)  :  G7SA U Imaery § sifyes fR 219 § WeT Ae 9 oads €9 § 3qersy &
Bd T

(1) (A) 3R (R) < w1 €

2) (A) W& ® 3R (R), (A) FT &l TR T |

(3) (A) T B A (R), (A) 1 FEI TLH T &
(A) 3R (R) < TTerd €|

pars \||H||\|||H|H||H|||\HII\IHI\IIIH\IHHIII\I\HHI\

N

Paper-11

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

12.  Which one of the following is a type of interview where a series of job-related questions are
asked that focus on how the candidate would behave in a given situation ?

(1) Behavioural interview (2) Job-related interview

(3) Situational interview (4) Structured interview

13. Consider the following statements :
(a) Sensitivity training was developed by Kurt Lewin
(b) In-basket excercise is a simulated training method
(c) Depth interview is also known as Directive Interview
(d) Job evaluation is carried out for promoting job satisfaction
Which of the above statements are true ?
(1) Only (a) and (c) (2) Only (a) and (b)
(3) (), (b) and (c) (4)  (b), () and (d)

14. Behaviourally Anchored Rating Scale (BARS) consists of the following steps :
(a) Reallocate incidents
(b) Develop performance dimensions
(c) Generate critical incidents
(d) Develop final statements
The correct chronological order of these steps is :
1) (), O, @), (@) 2 (b)) (), ()
®)  (© () @) (d) 4) (@) () (b), (d)

15. Consider the following elements :

(a) Actors

(b) Inputs

() Context
)

(d
(e) Ideology

Output

Which of these are not the elements of John T.Dunlop’s Framework of Industrial Relatives

System ?
(1) @and() (2 (@and@E)  (3) ()and(d)  (4) (a)and (d)
v [N 8
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12. T4 9 T TR & FITchR | % 9 Hafad 9991 st e § w2l & S8R &t SR 9T 2idl

€7
(1) HeIRINE HIaTeh (2) wHE-Hefyd AR
(3) Teufq wrameh (4) HEAHS HI&TEhR

13. Freifafed woe = faam #t -
(a) Hogstierar gfereror & fafam grr fasfaa foham o)
(b) TA-STEHES I T HTH FHe0 S T
(c) TET WA w1 Feemes Fiaehr off %gd © |
(d) | H e <7 % fow geaied o S g |
SUge el W W HH-T1 T 2
(1) e (a) 3R (0) (2) o (a) ¥R (b)
(3) (a), (b) 3 () 4)  (b), (o) ¥R ()

14. ToRfaaeeht ©&e XEm wha (BARS) Fefafaad ==ol &1 STTeX0 hdl &

(a) EAISA] hl YHaE HEAT

(b) TSI SR 1 fahT HE

(c) TEEYUl A T G HLA

(d) ifam faaRor faswfaa s

T =X AT T HIEHA €

1) (@), () (©, (d) 2) (), (), (a), (d)
B) (), (b), (a), (d) 4) (@), (c), (b), (d)

15. fr=fafEd d@l ) faum =1 .
(a) 9=
(b) ST
(c) Hed
(d) frfa
(e) Te=mum
TTH O -9 S 21, SI9 i SR o9 Yue! 1 T % dcd 78l @ 2
1) (a) ¥R (b) (2) () ¥R () (3) (b) ¥ (d) (4) (a) ¥R (d)

(
J-1715
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16. State the price of the share for the year t, if the rate of growth of the firm is 10%, EPS and

DPS for the year t+1, are ¥ 3 and X 2 respectively and the investors” required rate of return is
20%.

1) %30 2) %20 (3) %25 4) %10

17. In which of the following appraisal criteria of capital budgeting, the use of varying
opportunity cost of capital as a discount factor is possible ?

(a) NPV (b) IRR (c) Pay-back Period (d) ARR
(1) Only (a) is correct. (2) (a) and (b) both are correct.
(3) (b) and (d) both are correct. (4) Only (c) is correct.

18. According to the CAPM model, the cost of equity is represented by :
(1) Rm + (Rm - Rf) B] (2) Rf + (Rm - Rf) BJ
(3) B] + (Rm - Rf)Rm (4) Rm + Rf + B]

Where R indicates market rate of return, R; indicates risk free rate of return and B indicates
beta of stock]

19. Anticipated annual dividend divided by the market price of the stock is referred as :
(1) Dividend Pay-out (2) Dividend yield

(3)  Return on Equity (4) Regular dividend

20. If the existing shareholder does not exercise his/her right or does not sell the right
entitlement :

(1)  his/her wealth will remain unaffected
(2) his/her wealth will increase
(3) his/her wealth will decrease

(4) his/her wealth may increase or decrease

gl | 10
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16. afe fFat wH %1 H9fg W 10% B, t+1 99 & fou Sd.ud. iR St i.ug %ae: T3 W28 qenafg
frerereRl =t eTafera gfawal T2 20% & @ a9 t & fAC IR &1 wiFa a1 grf 2
1) T30 ) %20 (3) %25 4 <10
17. st aed & freafafed § 9 fd qoais amMee § dee 1% W ISt &1 uRed! o anm &
ST HG §?
(a) NPV (b) IRR () UIF wHI (d) ARR
(1) Fad (a) T B 2) (a) 3R (b), T HE 2|
(3)  (b) R (d), T T (4) FEA (c) T I
18. WU, YT H, YSit i AN I fRH YRR <9 S § 2
1) R+ Ry, =RpB; @) Ret (R, —Rp)B;
(3) B+ [Ry—RYR, (4) R +R+B,
STl R,,, & e § AR Wil 2, R ¥ e @ sifew-<fed wfawa 3, 7o g, & aed €
el
19. TIF H TSR FI0d ¥ SFTTATA SN e i faunfeia sa1 S FHgam § 2
(1) ST 9-31=e (2) ST IS
(3) Yol W gfdwa (4) frafaa anara
20. dfc FIE TAHM IPRURE T SAUHR HT STAM el FLAVEHLT AT AU ATYFR ThHe F T
SEdl/sEd! dl 36 b ¢
(1) A-Hufa swfaa =
(2) YA-Hufd § S@ial 8 S |
(3) ¥F-Hufd & & S|
(4) A-Hufd g5 ff TRl § AR FHA o T TR 7
s | THTOAT u
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21. What are the four main components of holistic marketing ?

(1) Integrated Marketing, Internal Marketing, Product Positioning and Performance
Marketing

(2) Integrated Marketing, Relationship Marketing, Social Marketing and Performance
Marketing

(3) Relationship Marketing, Integrated Marketing, Internal Marketing and Performance
Marketing

(4) Relationship Marketing, Integrated Marketing, Internal Marketing and Social Marketing

22.  Which of the following category of goods and services is most likely to require an aggressive
use of the selling concept ?

(1) Complementary Goods (2) Luxury Goods

(3)  Speciality Goods (4) Unsought Goods

23. The type of marketing that is the most recent to emerge is :
(1) Person marketing (2) Product marketing

(3)  Services marketing (4)  Social marketing

24. Accordingtothe __ theory, marketers can enhance demand for a product by
associating it with strong drives, using motivating cues and providing positive
re-enforcement.

(1) Demand theory (2) Learning theory

(3)  Psychological theory (4) Two-factors theory

25. The most scientifically valid research is :

(1) Experimental Research (2) Observation Research
(3)  Focus-Group Research (4) Survey Research
s | RN 12
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gafifor foque & frefafad # @ #1991 7= o999 84 ¢ 7

(1) Tehigha fauum, sm=afier fauom, Sae feafason v foue fauom

3

)

(2) Tihd faquF, Grerea faquE, s faqum v e faqom
) e faquE, Tahiehd fauvH, sraftes foqum we feares faqom
)

4) T faquE, TEigd fauom, st=afier fauem, wd amfse faqom

IcT1e TS Qa1eti i friford | @ &9 @ 901 & fou fasha Taamon & SR T3 &1 STesdehdl
BT ?

(1) T S () foenfam =1 3R

(3) fafire 3R (4) ST smieicad) IR

foqum & Frfafaa worl § | frg &1 faem oreft ge & o gen ® 2
(1) =l faqom 2) S faquE
(3) gar foaum (4) wmISE faqoH

% TTER fouumed v ScReh], TN TAEl 3R WRuTeHe Yedd | Heifud
ScTe % ferd o ag gehd €|

(1) = fagia (2) wrEH w (att) fagia

(3)  HASR g (4) fg-=r= fagia

St gfte 9 Faifas dY ST{HY™ qohHie S 9 2
(1) TARTHS STTHEH (2) THAETT FATHYH
(3) THI®HE WHYE I (4) FEU SIHYUE

s [JHHTHANNN 1
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26. Which of the following statements is not correct ?
(1) Product Layout generally has continuous and Mass Production, mainly assembly
function.
(2) Process Layout generally has Intermittent, Job-Shop, Batch Production, mainly
fabrication function.
(3)  Product Layout usually has general purpose equipments.
(4) Process Layout is generally driven by fluctuating demand.
27. Six-SIGMA quality indicates :
(1) 2.4 defects per thousand (2) 2.7 defects per thousand
(3) 3.4 defects per thousand (4) 3.7 defects per thousand
28. A manufacturing firm has four work stations, A, B, C and D in series with individual capacity
of processing 450, 390, 360 and 400 units per day respectively and the actual output of the
firm is 306 units per day. The system capacity and system efficiency of the firm shall
respectively be :
(1) 400 and 100% (2) 450 and 120% (3) 360 and 85% (4) 390 and 95%
29. In the simplex method of solving an LP Problem, the product-mix column of the initial
solution contains :
(1) Artificial variables only (2) Slack variables only
(3) Slack and artificial variables only (4) Real variables only
30. If the optimal solution of an LP Problem is degenerate then :
(1) The problem has multiple optimal solutions
(2) The solution is not feasible
(3)  The solution is useless to the manager
None of the above
pars H||\||H|||H|\H JUHRCA 1
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26. TTH ¥ I 9 FHUT & TE §?
(1) 3R A-37= | Hra: FRa SR A 3cae il 8, JeAd: Tawielt s

(2) URHAT A-3M=E H AHIG: Th-Fh HY (TURMLTL), Sa-TM, o= IR Bl €, TEAd:
fafafo wrt

(3) 3R A-3T H YR WM 32T & SR B © |

(4) HfshaT -3TISe WA SAR-<ed aret wr 9 freifd et §)

27. Toem o orer g @
(1) 2439 Yfd g (2) 2.73W 9fd R
(3) 3.43M Yfd TR (4) 3.73M 9fd TR

28. T fafior w4 & A, B, C 921 D &/ ®=¥H | U 450, 390, 360 TAT 400 hTE TfafeT TEEhio
T I ATHITG &I © T FH 1 ATEaforss 3eared 306 (e ufafed & T H wH T Jomedt arar aen
wﬁﬁwaw@?ﬁ;

(1) 400 991 100%  (2) 450 9&M120%  (3) 360 9&M85%  (4) 390 @7 95%

29. Y@ HHRYH guE it farciss fafy § AR THem & Sae-fag wiay § f=fafea § 9 =0

BRT ?
(1) Fm = (2) g@=
(3) T IR FAH =W (4) arfa® =R

30. afc fwdt <R denfan g9 & sean fem fesme’ € i .

(1) 39 991 % dgd g%ad (e el

) =% fiem Hurer 76 §

(3) ¥E f1eM wares % 3 =9 §
ST H | FIE qE TR ©

pars \IINI\|||H|H|||!III\“II\IHHIIIH\HH!III\HIIHI\ :
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31. If your score in an exam was 80, with a mean of 60, what would be the standardised score
for this exam if the standard deviation is 15 ?

1) 1.33 @) 1.25 3) 1.52 4) 1.72

32. Spurious relationship between two variables refer to :
(1)  Very poor relationship between the variables.
(2) Statistically insignificant relationship between the variables.

(3) Relationship happens only due to third variable which is common to both the
variables.

(4)  The relationship which is impossible to measure.

33. In a medical test, where the null hypothesis is : “The patient does not have the disease” and
the alternative hypothesis is : * The patient has the disease’. Suppose a patient has a disease
and needs treatment. In the hypothesis testing process, which of the following errors is more
serious than the others.

(1) Type-Ierror (2) Type-Ilerror

(3) BothType-Iand Type-Ilerror (4) r-error

34. Decision support system does not use :
(1) Analytical models (2) Specialized databases

(3) Fileserver (4) Computer - based modelling process

35. Give the correct order of the stages in ‘System Development’.

(1) Testing - Programming — Systems Design — Systems Analysis — Conversion —
Production and Maintenance

(2) Programming — Testing — Systems Analysis — Systems Design — Conversion —
Maintenance

(3) Systems Analysis — Systems Design — Programming — Testing — Conversion —
Production and Maintenance

(4) Production and Maintenance — Testing — Conversion — Programming — Systems
Design — Systems Analysis

gl | 1
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31. HF oifoT fe) Tden § 39 60 % HIET o T 80 3k 9, Ife gien 1 " fa=e 15 8 O 39
el & HhIHd 3 Bl :

1) 1.33 2) 1.25 3) 1.52 4 1.72

32. QO & o= et oy o7 1Y ¥

(1) =’ & &= 9gd &7 qaY

(2) =R % i wifersa gfc 9 smeay oy
(3) had THI | Hefyd I =) & HRU FaY
(4) GeY, fHRT A9 X UM ST

33. fafsrea Sifa §, FReTolia gereamT & - ¢ it okt s 78l &' 3R Sehfeqeh Treehed 1 @ - ¢ Il =
A 2 AE ST AT ) SR § ST SE TS i SAEvdehdl § | TeRheqdl S Ui H
frefafed & @ FR-9 3fear o= =t go § eifes TR 72

(1) 999 U&R &I e 2) feda g =1 Ffe
(3) WM Ud fgdta, S wER a6t e @) r-Ffe

34. faoig wmelq gomedt =1 w1 g T2 et €
(1) fowcroomeRs died ) fao zemy
(3) EEA X (4) HHR AURa AiefaT gfshan

35. ‘Yured) foaeRra’ o =ON R HWEl A ©

) THEO R — IRTHT — JoTedt fesied — Joreft favetoor — Ifedd — Seed a9 STee

2)  IIAHT — THET0 HIAT — JUME! foagerson — Jomett fesmed — afRedd —eTgeerm

3)  YUMEH faveioo — gomet fesed — TRt — The0 AT — qRedd — Scied aT STIREv
SCATSH AT STIETIT — THEI0 T — R — TRHT — Joredt fesmeT — gore! fagetwo
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36. Which of the following statements is correct ?
(1) Balanced score cards always report using the same time periods as the financial
accounting system.
(2)  One fundamental idea of balanced score card is to increase the number of performance
indicators used to manage the business.
(3) Organisations some times use a “traffic light” system on their balanced score card to
help them prioritise their activities.
(4) The fundamental idea of balanced score cards is to create corporate strategy.
37. What metaphor is used to describe the competitive space where product are not yet well
defined, competitors are not well-organised and the market is relatively unknown ?
(1) Blue Lagoon (2) Blue Ocean (3) Red Sea (4) Red Ocean
38. Michael E. Porter’s five generic strategies are :
(1) Differentiation (Best Value). Differentiation (Low Cost), Cost Leadership (Large), Cost
Leadership (Small), Focus
(2) Focus (Large), Focus (Small), Cost Leadership (Small), Cost Leadership (Large),
Ditferentiation
(3) Cost Leadership (Low Cost), Cost Leadership (Best Value), Differentiation,
Focus (Low Cost), Focus (Best Value)
(4) Cost Leadership (Large), Cost Leadership (Small), Differentiation (Large),
Ditferentiation (Small), Focus
39. One of the strategic decisions relating to the value chain concerns vertical integration. This
would involve :
(1) Deciding to link all activities using Enterprise Resource Planning.
(2) Deciding whether the activity should be performed within the organisation or by a
different firm.
(3) Deciding whether to locate operation in the home country or in a foreign location.
(4) Deciding whether to share certain activities across different products and markets.
40. “Pepsi Co launched a hostile take over of Pepsi Bottling Group after its $ 4.2 billion offer was
rejected”. Which strategy was used in this case ?
(1) Market Penetration (2) Backward Integration
Horizontal Integration (4) Forward Integration
pas HIIHIHIIIHI“I (R s
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frefafed § @ =9 W a@ T2

(1) oei~de TR HTE THe fomia Tramehor Jorel! &1 FHamEty & 9 R & g1

(2) SAHE TR HE H YAYd fouR § e & yay wewd & fod st - feaes geet w)t
HE&AT 9GH |

(3) FTed ® weft et wfafafi w mafiwal, 1 @ FH F a3 o =R e W CfRw
e’ YU T YA F ¢ |

(4) FAHE THR FHTE F JAYd foaR Hiuike HEId gioad & |

39 Yiqantt T & for fore wueh o1 g fohan s € el Seute guRkeanfa T ], wiaentt geoafeed
& B IR ISR STdaTeRd STafifaa § 2

1) ‘s’ 2) ‘=g e’ @) ‘= 4) ‘= A’

AEHA 8. TR & FTTAR U A9 HEAqar S Gt € 2

(1) fause (warae qea), faudeo(f= ar[), 9 9ga (M), 9 Jga (T9),
EaC|

(2) ®EwE (), BHE(AY), AN el (), AN Tge (Ereh), Tadeie

(3) mTd g (=1 o), <nTd gl (Feias g4, faddienon, wied (e @), wiend (Hatan
)

(4) @ g (), A AgE (), faadE (), faude (99), B

o *fGe U Fafed Tk Qi f0ia ofoed U0 ¥ e €| 399 &1 nihet g ?
(1) o9 FareA FEsH &1 ST #d g 94t Tiafafei &1 sied &1 o/ o |
(2) Tofa o for Tifafafy 1 STed o X SAe@T T wH o g R S|
(3) YEEH % fad ST <w AeEn focy # T &1 i o

) fafime SRl &R SR § @ TfafafEl i 9 w3 o Mo o

4

" IedteRl @ 4.2 Tafaem Sfer &t ST oTftehd 81 SH o 9%, 3§ It Siefa §HE 1 warget
Afew ¥ fhan’’ | 36 Al § i § S ST T 2

(1) 9NR 957 (Hifhe UeTM) (2) ITEHT TR
(3) &fds TwEm (4) STITH Thiw
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41. Who viewed entrepreneur as a non-fixed income earner with known costs of production but
uncertain income and therefore, operating at a risk ?
(1) Adam Smith (2) Richard Contillon
(3) Jean-Baptiste Say (4) Francis Wolker
42. Which one of the following is not a major area of entrepreneurial innovation as suggested by
Joseph Schumpeter ?
(1) Product innovation (2) Process innovation
(3) Market innovation (4) Structural innovation
43. Which one of the following types of entrepreneurs are not proactive in nature and does not
respond much to changes in the environment ?
(1) Fabian entrepreneur (2) Adoptive entrepreneur
(3)  Drone entrepreneur (4) Innovative entrepreneur
44. SFURTI (Scheme of fund for regeneration of traditional industries) is implemented by :
(1) Union Ministry of Traditional Industries
(2) National Agricultural cooperative Marketing Federation
(3) Federation of Indian Chamber of Commerce and Industry
(4)  Union Ministry of Micro, Small and Medium Enterprises
45. According to the Tiwari Committee report, which one of the following is not an internal
cause of industrial sickness in India ?
(1) Lack of manpower planning (2) Lack of control systems
(3)  Excessive expenditure (4)  Excessive tax policies
46. Which of the following is/are the component(s) of Ethics by field of interest ?
(1) Descriptive ethics (2) Normative ethics
(3) Meta ethics (4) All of the above
v AN 2
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41, Tfafea & & e s &1 39 &9 § <@ gt 9 Afeer 31, 3 o fafed & @
Affed w1 &1 ) Sifew | wM wa &'’
(1) veH femy 2) = $Eem
(@) SH-afr | (4) HIEE FieT
42, SHE YEAR F FATIR Fefafad § @ -9 Tauedd SaHedl Té © 2
(1) 3R Tagedd (2) A Faged
(3) 9NIR TaYed (4) HEATHE YA
43. fafus yor & safl § 9 fFe-ver &1 S o yfa § suraef(W-ufaed) & g o afew
T e o i semer gfdfsran 721 feam ?
(1) e Seret 2) SR s
(3) el (gH) et (4) TTIISCHRN JTHT
44. '¥pid’ (SFURTI) ThiA 31F e R EHAEE o dfevma seedits =1 fe=fafed o 9 feas g
SIURERISIGIR#
(1) e WA SR AT 5
(2) U FH Fghit fooue hewr g1
(3) THEWM AT Sfedd =R 3% FHE TS IS8 5N
(4) e Afa @, Y SR TeEm W g g1
45. o) wfufq =t ffe & orqER, fFefafag & @ SH-91 wra § o S@ w1 stiaftes HroaE € 2
(1) IRt FS 1 (2) T uredt 61 ST
(3) FTATgw =™ 4) scafyw w5 At
46. Trafafed 4 § SH-T/A woF f&d & &7 g - F/F w2k /3 ?
(1) v Ffa-vmes (2) A Hfa-me
(3) Her Hifq-wre 4) STdE |
s AR 2 Papec
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47. What is the right sequence of four psychological sub-processes in ethical action given by
James Rest ?

(1)
(2)
)
(4)

Moral sensitivity, moral focus, moral judgment, moral character
Moral focus, moral character, moral sensitivity, moral judgement
Moral sensitivity, moral judgement, moral focus, moral character

Moral character, moral focus, moral judgement, moral sensitivity

48. A new approach “Learning Model” which is helpful to strengthen the decision making process
was developed by :

1)

Arthur Rich (2) Bob Garratt (3) Christian Wolff (4) Lord Keynes

49. Assertion (A) : Corporate behaviour towards stakeholders is an important concept in

practice and a central part of corporate Governance.

Reason (R) : It has to be ethical, legal and responsible behaviour for organisation,

stakeholders and society.
Both (A) and (R) are true.
Both (A) and (R) are false.
(A) is false, but (R) is true.

(A) is true, but (R) is not a correct explanation of (A).

50. CSRis important because :

(1) Itinfluences all aspects of Company’s operation
(2) It gives company’s mission and strategy
(3) It increases the general affluence and societal expectation
(4) All of the above
-o00o-
s | RN 2
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47. 79 W g & T2 AT FRaE § IR gAeTR SU-giwaeT o 9el vy F 8 ?

(1) Afaw dagTeiied, Afqw dga, Afqew fom, Ifew =ika

(2) faew dea, s afE, Jfaw Fagmsiea, Hfaw o
(3) fde Gagsier, Ao fofa, Hfaew e, Maw =i
(4) Hfaw =, Afaw asa, Afaw fof, Hfaw dagsfiea

48. T1ofa & =t ufsran & ggg oM ® "eeR 991 uRged A wiea ' i R faefad fean T
I .

(1) smRT= (2) 99 TME (3) frfeem aew  (4) @€ FW

49. AMIRIT (A): FRURS HTER ANURSDT & Y 1AW § THh AUl Hehodd1 § 3R HRUNE

I T hi=d WM B
®ROT (R) : SHHI e, VYR a1 HHME & foq Ffquen, wrA qon R 3 wmey |
(1) (A) SR (R) I &
2) (A) 3R (R) S 7T |
(3) (A) e &, W (R) WEl €|
(4) (A) T B, T (R), (A) F1 T TR A R

50. W.UH.SR He@qUl § il

(1) =8 FOE! & IR & Tt Tecgedl #1 gunfad i 2|
(2) € T 1 FAYA SR TEifa < €
(3) I WM THIG qen TSt e1den # gfg w¥ar €1
(4) SodF 9|
-00o0-
s [T 2

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

Space For Rough Work
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